Cri0)xeHue 4uces ¢
pa3HbIMU 3HaKaMu

Yyntenb mateMaTUKH
MKOY « MockaneHcKkuu nuuen»
Baatok Onbra AAlpocnaBHa




3arnoMHu npaBumno

YUTOObI CNOXUTbL ABa UYMchna C
pa3HbIMU

3HaKaMWU:
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3akpenu npaBuno

7+(-3)=+(7-3)=4
55+(-7,3)=-7,3-5,5)=-1,8

-32+11=-(32-11)=-21







'~ BcTaBbTe nponyLweHHbIe Yucna

n+(-3)=5 13+ ppy=-5
54+ g =-3 4,5+ prye= 11

012 + = 3,24
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[MpnbaBbTeE:

¥ A\IRARAND K 14 21 uiaenrmn 1N

(-5+(-31))+10=-36+10=-26

_wwimnae~nrmv L E Avinananzs 2D D2 a QL.

6,5+ (-3,2+9,5)=6,5+6,3=12,8
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'Hanpgute 3HauyeHne
Bblpa)XeHus

-3,8 + 3,

echu a=-4,75;
a =24;
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CamocTosTenbHasa paboTa

-3,8 + 3,
echrm a=-4,75;
a = 24;

3
=2—.
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[lpoBepbL cebs

-3,8 + 3,
ecam a=-4,75;
a =24;

3
=2—.
4= 435




